
1. The paper consists of three sections :-
Science (15 Questions), Mathematics
(10 Questions) and Mental abil ity
(15 Questions).

2. All questions are compulsory and carry four
marks each. One mark is deducted for wrong
answer.

SCIENCE

MOTION TALENT SEARCH EXAMINATION

DURATION: 60 MINUTES TOTAL QUESTIONS: 40   MAXIMUM MARKS : 160

SAMPLE PAPER

CLASS : 10th

Comprehension/Passage (Q.1 & 2):

Green Revolution was a process by which India’s
production of wheat, rice, maize and several other
food grains was tremendously increased in the late
1960s and early 1970s. Fertilizers and pesticides were
used. Irrigation facilities were improved. Dr. M.S.

Swaminathan played a key role in bringing about
the ‘green revolution’ and is callled as the father of
Green revolution of India.  In 1967, he developed a
high-yield dwarf variety of wheat, Sharbati Sonara.

Being a plant geneticist, he has contributed to the
development or agriculture in India.
1. The high yielding variety of wheat is:

(A) Kaushal sonara (B) Pusa lerma
(C) Sharbati sonara (D) All of the above

2. Green revolution is:

(A) Advancement in dairy products

(B) Advancement in fishes and its products

(C) Advancement in egg production

(D) Advancement in agriculture

3. There is only one correct answer hence mark
one choice only.

4. Darken your choice in OMR Sheet with Blue/
Black Ball Point Pen.

5. Return the OMR Sheet to the invigilator at
the end of the exam.

vuqPNsn@x|ka'k (Q.1 & 2):

Hkkjr ds 1960 rFkk 1970 ds n'kd esa] xsagw] pkoy] eDdk vkfn

[kk|kUuksa dk foLQksVd mRiknu gfjr Økafr dgyk;kA ;g Økafr Hkkjr

esa ubZ d`f"k rduhd ftldsa rgr xasgw rFkk pkoy dh mPp mRikndrk

okyh fdLesa mxkbZ xbZA moZjd rFkk dhVuk'kdksa dk mi;ksx fd;k x;kA

flapkbZ O;oLFkk miyC/k djkbZ xbZA MkW- ,e- ,l- Lokeh ukFku ls gfjr

Økafr esa eq[; Hkwfedk fuHkkbZA rFkk Hkkjr gfjr Økafr ds tud dgyk;sA

1967 esa mUgksaus xsagw dh cksuh fdLe ljcrh lksuk dh fodflr dhA

ikni vkuqoaf'kd gksus ds ukrsa mUgksaus Hkkjr esa df̀"k vkSj fodkl esa

;ksxnku fn;kA

1. xasgw¡ dh vf/kd iSnkokj okyh fdLe gS &

(A) dkS'ky lksukjk (B) iqlk ysekZ

(C) lkcjerh lksukjk (D) mijksDr lHkh

2. gfjr Økafr gS &

(A) nqX/k mRiknksa esa òf)

(B) eNyh rFkk muds mRiknksa esa òf)

(C) v.Mk mRiknu esa òf)

(D) df̀"k esa òf)
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3. The bone marrow is composed of :

(A) Muscle fibres and adipose tissue
(B) Areolar tissue and adipose tissue

(C) Adipose tissue and calcified cartilage
(D) Adipose tissue, areolar tissue and blood
vessels

4. Which of the fol lowing would not be
considered part of a cell's cytoplsm?

(A) Ribosome (B) Nucleus

(C) Mitochondrion (D) Microtubule

5. Which statement is not correct for
amphibians?

(A) These are first vertebrate which come out
of water

(B) They are cold-blood animals

(C) They do have scales on their skin
(D) They have two chambered heart

6. Momentum is a:

(A) vector quantity

(B) scalar quantity

(C) fundamental quantity

(D) none of the above

7. If the displacement-time graph for the two
particles A and B are straight lines inclined
at angles of 30° and 60° with the time axis,
then ratio of the velocities vA: vB will be

A

B

O Time

60°
30°D

isp
la

ce
m

en
t

X

Y

(A) 1 : 2 (B) 1 : 3

(C) 3  : 1 (D) 3 : 1

8. A stationary ball weighing 0.25 kg acquires a
speed of 10 m/s when hit by a hockey stick.
The impulse imparted to the ball is:

(A) 0.25 N × s (B) 2.5 N × s

(C) 2N × s (D) 0.5 N × s

3. vfLFk eTtk feydj cuk gksrk gS &

(A) eka'kisf'k; rarqvksa rFkk olk ÅÙkdksa ls

(B) dksf'kdk ÅÙkdksa rFkk olk ÅÙkdkas ls

(C) olk ÅÙkdksa rFkk dM+h yphyh gìh;ksa ls

(D) olk ÅÙkdksa] dksf'kdk ÅÙkdksa rFkk jä okfgdkvksa ls

4. fuEufyf[kr esa ls dkSu dksf'kdk nzO; dk Hkkx ugha gS &

(A) jkbckslkse (B) dsUnzd

(C) ekbVªksdkfUMª;k¡ (D) lw{e ufydk,¡

5. dkSulk dFku mHk;pjksa ds fy, lR; ugha gS \

(A) ;s izFke es:n.Mh; izk.kh gS tks ty ls ckgj vk,

(B) ;s B.Ms jä okys tUrq gSA

(C) budh Ropk ij iiM+h;k gksrk gSA

(D) buds ikl nks dks"Bksa esa foHkkftr ân; gksrk gSA

6. laosx ,d gS &

(A) lfn'k jkf'k

(B) vfn'k jkf'k

(C) ewy jkf'k

(D) buesa ls dksbZ ugha

7. nks d.kksa A vkSj B ds fy, foLFkkiu&le; xzkQ le; v{k

ds lkFk 30° vkSj 60° dks.k ij >qdh ljy js[kk,¡ gS rc osxksa

vA: vB  dk vuqikr gksxk &

A

B

O Time

60°
30°D

isp
la

ce
m

en
t

X

Y

(A) 1 : 2 (B) 1 : 3

(C) 3  : 1 (D) 3 : 1

8. 0.25 Kg Hkkj dh ,d fLFkj xsan 10 m/s dh pky izkIr

djrh gS] tc ;g ,d gkWdh dh NM+h }kj ekjh tkrh gSA xasn

dks fn;k x;k vkosx gS &

(A) 0.25 N × s (B) 2.5 N × s

(C) 2N × s (D) 0.5 N × s
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9. Two solid spheres of same radius (R) and of

same material are placed in such a way that
their centres are 2R apart. The gravitational
force between them is directly proportional to :

(A) R2 (B) R–2

(C) R4 (D) R–4

10. At dew point, relative humidity (RH) is :

(A) 10% (B) 20%
(C) 50% (D) 100%

11. Rutherford's experiment which established the
nuclear model of the atom used a beam of

(A) -particles which impinged on the metal
foil and got absorbed

(B) -rays which impinged on a metal foil and
ejected electrons

(C) hydrogen atoms, which impinged on a
metal foil and got scattered

(D) -particles nuclei, which impinged on a
metal foil and got scattered

12. The name of the compound Ba3N2 is:

(A) Barium nitride

(B) Barium nitrite

(C) Barium nitrate

(D) None of these

13. The order of vapour pressures of four solids
is P << R < Q < S. Which of the following has
the maximum tendency to sublime?

(A) P (B) Q

(C) R (D) S

14. Milk of Magnesia is an example of:

(A) emulsion (B) true solution
(C) colloid (D) suspension

15. In which of the following pairs of shells, energy
difference between two adjacent orbits is
minimum?

(A) K, L (B) L, M

(C) M, N (D) N, O

9. leku inkFkZ vkSj leku f=T;k (R) ds nks Bksl xksys bl

izdkj j[ks tkrs gS fd muds dsUnz 2R nwjh ij gksrs gSA muds

chp xq:Rokd"kZ.k cy lh/kk lekuqikrh gS &

(A) R2 (B) R–2

(C) R4 (D) R–4

10. vkslkad (dew point) ij lkis{khd vknzZrk (RH)  gS &

(A) 10% (B) 20%
(C) 50% (D) 100%

11. jnjQksMZ ds ijek.kq ds ukfHkdh; ekWMy esa fuEu ds iqat dk

mi;ksx fd;k tkrk gS &

(A) -d.kksa ds] tks /kkrq ijr ij vkifrr gksdj vo'kksf"kr

gks tkrs gS

(B) -fdj.kksa ds] tks /kkrq ijr ij vkifrr gksrk gS rFkk

bysDVªkWu eqDr djrk gS

(C) gkbMªkstu ijek.kqvksa ds] tks /kkrq ijr ij vkifrr gksrk

gS rFkk fofd.khZr gksrk gS

(D) -d.k ukfHkdksa ds] tks /kkrq ijr ij vkifrr gksrk gS

rFkk fofd.khZr gksrk gS

12. ;kSfxd Ba3N2 dk uke gS &

(A) csfj;e ukbVªkbM

(B) csfj;e ukbVªkbV

(C) csfj;e ukbVªsV

(D) buesa ls dksbZ ugha

13. pkj Bkslksa ds ok"i nkc dk Øe P << R < Q < S  gSA fuEu

esa ls dkSulk Å/okZikru dh vf/kdre izòfÙk j[krk gS \

(A) P (B) Q

(C) R (D) S

14. eSXusf'k;k dk nw/k fuEu dk mnkgj.k gS &

(A)  ik;l (B)  lR; foy;u

(C)  dksykbM (D)  fuyacu

15. midks'kks ds fuEu esa ls dkSuls ;qXe esa nks fudVorhZ d{kkvksa

ds e/; ÅtkZ vUrj U;wure gksrk gS \

(A) K, L (B) L, M

(C) M, N (D) N, O
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MATHEMATICS

Comprehension/Passage (Q.16 & 17): A coin is
tossed 50 times and tail is obtained 19 times.
16. Find the probability of getting tail.

(A) 
50
19 (B) 

30
19

(C) 
19
50 (D) 

20
50

17. Find the probability of getting head.

(A) 
21
50

(B) 
19
50

(C) 
31
50

(D) 
41
50

18. What is the least possible number which when
divided by 2, 3, 4, 5, 6 leaves the remainders
1, 2, 3, 4, 5 respectively ?
(A) 39 (B) 48
(C) 59 (D) None of these

19. If ,  are the roots of ax2 + bx +c and  + k,
 + k are the roots of px2 + qx + r, then k =

(A) 
1 a p– –
2 b q
 
 
 

(B) 
a p–
b q
 
 
 

(C) 
1 b q–
2 a p
 
 
 

(D) (ab – pq)

20. If = x 6 6 6 ....to     , then :

(A) x is an irrational number
(B) 2 < x < 3
(C) x = 3
(D) None of these

21. If AB, BC and AC be the three sides of a
triangle ABC, which one of the following is
true ?
(A) AB – BC = AC (B) (AB – BC) > AC
(C) (AB – BA) < AC (D) AB2 – BC2 = AC2

22. If a, b, c are all distinct, then the equations
(b – c)x + (c – a)y +  – b = 0 and (b3 – c3)x
+ (c3 –a3)y + a3 – b3 = 0 represent the same
line if:
(A) a + b + c  0
(B) a + b + c = 0
(C) a + b = 0 or b + c = 0
(D) None of these

vuqPNsn@x|ka'k (Q.16 & 17): ,d flDds dks 50 ckj Qsadk

tkrk gS rFkk 19 ckj Vsy izkIr fd;k tkrk gS

16. Vsy izkIr gksus dh izkf;drk Kkr dhft, &

(A) 
50
19 (B) 

30
19

(C) 
19
50 (D) 

20
50

17. gSM izkIr gksus dh izkf;drk Kkr dft, &

(A) 
21
50

(B) 
19
50

(C) 
31
50

(D) 
41
50

18. U;wure laHko la[;k D;k gksxh] ftls tc 2, 3, 4, 5, 6
}kjk foHkkftr fd;k tk, rks 'ks"kQy Øe'k% 1, 2, 3, 4, 5
cprk gks A
(A) 39 (B) 48
(C) 59 (D) buesa ls dksbZ ugha

19. ;fn  , , lehdj.k ax2 + bx +c  ds ewy gs rFkk  +
k,  + k,  lehdj.k px2 + qx + r, ds ewy gS] rc k =

(A) 
1 a p– –
2 b q
 
 
 

(B) 
a p–
b q
 
 
 

(C) 
1 b q–
2 a p
 
 
 

(D) (ab – pq)

20. ;fn x 6 6 6 ....to     , rc

(A) x ,d vifjes; la[;k gS
(B) 2 < x < 3
(C) x = 3
(D) buesa ls dksbZ ugha

21. ;fn AB, BC rFkk AC ,d f=Hkqt dh rhu Hkqtk,¡ gS] fuEu

esa ls dkSulh ,d lgh gS &
(A) AB – BC = AC (B) (AB – BC) > AC
(C) (AB – BA) < AC (D) AB2 – BC2 = AC2

22. ;fn a, b, c lHkh ,dfn"V g S] rc lehdj.k

(b – c)x + (c – a)y +  – b = 0 rFkk (b3 – c3)x
+ (c3 –a3)y + a3 – b3 = 0 leku js[kk dks iznf'kZr djrh gS] ;fn
(A) a + b + c  0
(B) a + b + c = 0
(C) a + b = 0 or b + c = 0
(D) blesa ls dksbZ ugha
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23. Two circle touch each other internally. Their

radii are 2 cm and 3 cm. The biggest chord
of the other circle which is outside the inner
circle, is of length:

(A) 2 2 cm (B) 3 2 cm

(C) 2 3  cm (D) 4 2  cm
24. If a solid right circular cylinder is made of

iron is heated to increase its radius and height
by 1% each, then the volume of the solid is
increased by
(A) 1.01% (B) 3.03%
(C) 2.02% (D) 1.2%

25. ABCD is a square of side a cm. AB, BC, CD
and AD all are the chords of circles with equal
radii each. If the chords subtends an angle
of 120° at their respective centres, find the
total area of the given figure, where arcs
are part of the circles:

D C

A B

(A) 
2 2

2 a aa 4 –
9 3 2

  
  

   

(B) 
2 2

2 a aa 4 –
9 4 3

  
  

   

(C) [9a2 – 4 + 23 3a ]
(D) None of these

23. nks òÙk ,d&nwljs dks vUr% Li'kZ djrs gSA budh f=T;k,¡

2 lseh- rFkk 3 lseh- gS] nwljs òÙk dh lcls cM+h thok tks fd

vUr% òÙk ds ckgj fLFkr gS] dh yEckbZ gksxh &

(A) 2 2 lseh- (B) 3 2 lseh-

(C) 2 3  lseh- (D) 4 2  lseh-

24. ;fn yksgs ds cus ,d leòÙkh; csyu dks bldh f=T;k rFkk

Å¡pkbZ izR;sd esa 1% òf) ds fy, xeZ fd;k tkrk gS] rc

Bksl vkdf̀r ds vk;ru esa fdruh òf) gksxh &
(A) 1.01% (B) 3.03%
(C) 2.02% (D) 1.2%

25. ,d lseh- dh Hkqtk dk ,d oxZ ABCD gSA AB, BC, CD
rFkk AD lHkh òÙk dh thok,¡ gS ftles izR;sd dh f=T;k

leku gSA ;fn thok,¡ Øe'k% vius vius dsUnzks ij 120° dk

dks.k cukrh gS] rc nh x;h vkdf̀r dk dqy {ks=Qy Kkr

dhft,] tgk¡ oØ òÙk ds Hkkx gSA

D C

A B

(A) 
2 2

2 a aa 4 –
9 3 2

  
  

   

(B) 
2 2

2 a aa 4 –
9 4 3

  
  

   

(C) [9a2 – 4 + 23 3a ]

(D) buesa ls dksbZ ugha

MENTAL ABILITY

26. Dog : Bark :: Goat : ?
(A) Bleat (B) Howl
(C) Grunt (D) Bray

27. If in a certain language A is coded is 1, B is
coded as 2, and so on, how is BIDDIC coded
in that code?
(A) 294493 (B) 284563
(C) 375582 (D) 394492

28. If 'South-east' is called 'East', 'North-west'
is called 'West', 'South-west' is called 'South'
and so on, what will 'North' be called?
(A) East (B) North-east
(C) North-west (D) South

29. 1, 3, 10, 21, 64, 129, 256, 778
(A) 10 (B) 21
(C) 129 (D) 256

26. dqÙkk % HkkSaduk %% cdjh: ?
(A) esa esa (B) HkkSa HkkSa
(C) ?kqj ?kqj (D) pha[kuk

27. ;fn ,d fuf'pr Hkk"kk esa A dk ladsr 1 gS] , B dk ladsr

gS] bR;kfn bl izdkj BIDDIC dk ladsr D;k gksxk &
(A) 294493 (B) 284563
(C) 375582 (D) 394492

28. ;fn ̂nf{k.k&iwoZ*dks ̂iwoZ* dgrs gS] ̂mÙkj&if'pe* dks if'pe

dgrs gS] nf{k.k&if'pe dks nf{k.k dgrs gS] bR;kfn rc mÙkj

dks D;k dgk tk,xkA

(A) iwoZ (B) mÙkj&iwoZ
(C) mÙkj&if'pe (D) nf{k.k

29. 1, 3, 10, 21, 64, 129, 256, 778
(A) 10 (B) 21
(C) 129 (D) 256
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30. Insert the missing characters out of the given

options below the matrix.

Z4 X3 V9
A6 C2 ?
T5 R4 P15

(A) E10 (B) E12
(C) S10 (D) S15

31. A bus starts from city X. The number of
women in the bus is half of the number of
men. In city Y, 10 men leave the bus and
five women enter. Now, number of men and
women is equal. How many passengers
entered the bus in the beginning?
(A) 15 (B) 30
(C) 36 (D) 45

32. If A stands for +, B stands for –, C stands
for X, then what is the value of (10 C 4)
A (4 C 4) B 6?
(A) 60 (B) 56
(C) 50 (D) 20

33. P is the brother of Q and R. S is R's mother. T
is P's father. Which of the following state-
ments cannot be definitely true ?
(A) Q is T's son (B) T is Q's father
(C) S is P's mother  (D) P is S's son

34. Satish remembers that his brother's birthday is af-
ter 15th but before 18th of February whereas his
sister Kajal remembers that her brother's birthday
is after 16th but before 19th of February. On which
day in February is Satish's brother's birthday?
(A) 16th (B) 17th
(C) 18th (D) 19th

35. (i) A + B means A 'is the father of' B
(ii) A – B means A 'is the wife of' B
(iii) A × B means A 'is the brother of' B
(iv) A  B means A 'is the daughter of' B
If A – C + B, which of the fol lowing
statements is true?
(A) A is the mother of B
(B) B is the daughter of A
(C) A is the sister of B
(D) None of these

36. A, B, C, D, E and F are sitting around a round
table. A is between E and F, E is opposite to
D, and C is not in either of the neighbouring
seats of E. Who is opposite to B?
(A) C (B) D
(C) F (D) A

30. vkO;wg ds uhps fn, x, fodYiks esa ls vkO;wg esa fn, x,

vuqifLFkr o.kZ ij j[ksA

Z4 X3 V9
A6 C2 ?
T5 R4 P15

(A) E10 (B) E12
(C) S10 (D) S15

31. ,d cl X 'kgj ls 'kq: gksrh gSA cl es a  fL=;ks a dh la[;k iq:"kksa

dh la[;k ls vk/kh gSA Y 'kgj esa 10 iq:"k cl ls mrjrs gS

rFkk ik¡p fL=;k¡ cl esa p<+rh gSA vc] iq:"kksa rFkk fL=;ksa dh

la[;k leku gSA izkjEHk esa fdrus ;k=h cl esa p<+s FksaA
(A) 15 (B) 30
(C) 36 (D) 45

32. ;fn A dk eryc +, B dk eryc –, C dk eryc X, rc
(10 C 4) A (4 C 4) B 6? dk eku gksxk &

(A) 60 (B) 56
(C) 50 (D) 20

33. P, Q rFkk R dk HkkbZ gSA S, R dh ekrk gSA T, P dk firk

gSA fuEu esa ls dkSulk dFku fuf'pr :i ls lR; ugha gS &

(A) Q,T dk iq= gS  (B) T, Q ds firk gS

(C) S, P dh ek¡ gS  (D) P,S dk iq= gS

34. lrh'k dks ;kn vk;k ds mlds HkkbZ dk tUefnu 15 Qjojh ds ckn

ysfdu 18 Qjojh ls igys gSA tcfd mldh cgu dkty dks ;kn

gS fd mlds HkkbZ dk tUefnu 6 ds ckn ysfdu 19 Qjojh ls igys

gS] Qjojh esa dkSuls fnu lrh'k ds HkkbZ dk tUefnu gksxk &

(A) 16th (B) 17th
(C) 18th (D) 19th

35. (i) A + B dk eryc A, B dk firk gSA

(ii) A – B eryc A,B dh iRuh gSA

(iii) A × B eryc A, B dk HkkbZ gSA

(iv) A  B eryc A,B dh iq=h gSA

;fn A – C + B, rc fuEu esa ls dkSulk dFku lR; gS &

(A) A, B dh ek¡ gSA

(B) B, A dh iq=h gSA

(C) A, B dh cgu gSA

(D) buesa ls dksbZ ugha

36. A, B, C, D, E rFkk F ,d esat ds pkjks vkSj cSBs gSA

A, E rFkk F ds chp esa gS]  E, D ds foijhr gS] rFkk C, E
ds iM+ksl dh lhV ij ugha cSBk gSa B ds foijhr dkSu gS
(A) C (B) D
(C) F (D) A
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37. nh x;h vkdf̀r esa f=Hkqtksa dh la[;k Kkr dhft,A

(A) 14 (B) 17
(C) 15 (D) 16

38. fuEu iz'u esa] vkdf̀r dks eksMdj ,d ckWDl cuk;k tkrk gSA

fn, x, fodYiksa esa ls ml ckWDl ;k ckWDlks dk p;u dhft,

tks vkdf̀r dks eksMus ij cusxk &

+

(I) (II) (III) (IV)

+ X
X

(A) flQZ I (B) flQZ II
(C) flQZ II vkSj III (D) flQZ III vkSj IV

funsZ'k (39 to 40): ,d píj dks bl izdkj eksM+k tk, tSlk

fd Øe'k% vkd`fr X, Y rFkk Z esa fn[kk;k x;k gS
rFkk muesa Nsn fd;k tkrk gS rFkk muesa Nsn fd;k

tkrk gS] vkidks fodYiks esa ls p;u djuk gS fd tc

bls [kksyk tk;sxk rks ;g dSlk fn[ksxkA

39.
X Y Z 

(A) (B) (C) (D)

40.
X Y Z

37. Find the triangles in the given figure.

(A) 14 (B) 17
(C) 15 (D) 16

38. In the following question, the figure is folded
to form a box. Choose from among the alter-
natives the box or boxes that can be formed
by folding the figure.

+

(I) (II) (III) (IV)

+ X
X

(A) only I (B) only II
(C) only II and III (D) only III and IV

Directions (39 to 40): A sheet has been folded
in the manner as shown in X, Y and Z
respectively and punched. You have to
choose from the alternatives how it will
look when unfolded

39.
X Y Z 

(A) (B) (C) (D)

40.
X Y Z

(A) (B) (C) (D)
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ROUGH WORK
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